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P U= Urine creatinine CrogldD
oY V = Val. of urine Cml/min)

. ) serum cregtinine € mgldD
Ucm@ldDBX Vel /min)g P = JPleeaf k.

PcrogldD s & since, “mgldl™ units cancel eadh o, ubit of
creatinine clearance is ‘ml/min’

Referance ran@es :-

@ serum cregtinine = 0.6 to 1.2 mgldl
@ Urine cratinine = 0.8 fo 15 Gm|day.

® craatisine costficient »  Males = 241026 m811@lda}.
Females= 204022 gl kg lday.

@ Creatinine clearance - Males = 85 ta 125 mol[min
Ferogles = 15 to 115 ml| min.

Nofe: It 1S worthwhile o knoo A, 8.0 a0 £. ot will help you understand

all caleulations.



